N=0

5. Given: £ MNP=/0PN, and

c
[
i :
itaﬂgg_mgg_ts Reasons
1.GH=KL 1. Given
2. 4G LK 2. Given
3. GI=K] 13 Enivert.
4.newt =OKRT | 4 5A5
5. Hi=L] 5. ¢pcTme.
6. Given: ST=VU 7.
T
u.
S
v
Prove: £SVT=2UTV
Statements .. | Reasons
1L.5TZ UT 1. Given
2. TVETY 2. Reflexive Property
3. DTSV EANUT 3 HI,
4, LSVT=£UTV |4, CRETC.
8. Given GH||]T, 1 is the midpoint of HK and

GH2T

Fill in m.issing-i‘nfarmatmmiggh proof. . Given: = \ P _ \
T AT . 0 .
( Given: GH=KL, 2£G=£K, and Glfj@' | . A

N

MP=ND )

. Prove:

Statements Reasons

1. £0NNP & /20N | 1. Given
- 2. MN=0P , 2 SGiver-

3. NP=NP ol lex ve Prop of &=
4, AMNP=AOPN 4. =HS

5. [P ™ NU 5. CPCTC

Prove: £ZB=+sD
- Statements_ Reasons
1. PCECE 1. &iven
2. DEE RS 2. Given __
3. £ACB=4DCE 3. Ves okl Z_y:s Qe =
4, AABC=ADEF 4, SAs
5. #B=«D 5. .COCTCE.
9. Given: MP=NP, MN.LOF
M

0 /P
N
Prove: £G=2]
Statements Reasons Prave: MO ON
1. GH||IT 1, @ ¢ vers Stateifients . Reasons
2.1is the midpoint of HR | 2. Given _
3. @t T 3. Given ) 1P =P 1. Given
4. HI=lR 4. wefn. ol onclpt 2, INLOP 2. Grivers
S.AH Aﬁféjl\ﬁ 5. Corresponding 3:0P=0P 3. ?;z_,\ylﬁch Cd ravel O{
6. BEHT E AT 6. SAS 4. AMOP=ANQP  |4. i
7. £Gz2s] 7. CErTeL 5 W= 0N 5. CPCic.
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10. Given: SU=VT 11. Given: AB||DE, AF bisects BD

) ‘ A D

B E
Vv
Prove: ST=UV B “ prove: AC=FT
Statements | Reasons statements Reasons
1.50=VT 1. Gaiven LABADE [ 1.given
2. TUETU  |2:Reflexive Prop, - 2. REDISCASBD | 2. Given RS
3. AMUT ZAST W 3. HL  3.2ABC=/<EDC |3 AKTIMJace =
4 sy v |acpcrc . 4zACB=sDCE | 4. Yerlical A are &
: - 5 &= D 5. Def of Risect
6. AABC=AEDC | 6. p3A
| 7 REEEC |7 Chete
12, 11, 2Hse) and GHEIL. 13. Given: PM||NO, MN||PO,
Il | \ NN
G 4~ y K 0
’I" Prove: PM=0N
p a1k ' Statements Reasons
S:::ge- P o Reasouis ' LPMION __ L &iven.
_ 1 e 2.7N/FG [2.Given
2 2. Givert 3. 2PMO=/NOM |3, A, Tk %5 e 22
3' 3' i 4, £ POONE /NMO| 4. Altercnate Interior
' ' Ao~ 5 MO=MO 15. Rediexive . Pro
v 5 Q= ®
tst. \ g Alterya eIn_ter _r"\fb‘f“c 6. APAPO = AONM| 6. ASA f
. . P e
6 Cent =2 e 16 CPCTC 7. P =S50 |7 Crete

14, .\iven: ST||WV, and ST=VW
5

Prove: SU= WU Prove: £Az=/DCE
Statements Reasons : statements Reasons
LT e 1. Given o .
25T =V 2. Given 1. AB=CD L&ven
3. LT 24N 3. Alternate Interior 2.BC= E__ 2. é\l'u&‘\
4. /SUT=/WUV |4 \erdicol s are 2 3. FC =CE 3. Given_
5. ASUT ZAWUY | 5. AAS 4. APC 2 ACDE |4, SBT3

6. EU =4 oW | 6. apexe 5. LAZLXE |5 .cPcTC-
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